

Some inclusion results of certain subclass of analytic functions associated with Poisson distribution series

G. Murugusundaramoorthy*[†], K.Vijaya[‡] and S.Porwal[§]

Abstract

The purpose of the present paper is to investigate some characterization for Poisson distribution series to be in the new subclasses $\mathcal{G}(\lambda, \alpha)$ and $\mathcal{K}(\lambda, \alpha)$ of analytic functions.

Keywords: Starlike functions, Convex functions, Hadamard product, Poisson distribution series.

2000 AMS Classification: 30C45

Received : 04.05.2015 *Accepted :* 09.09.2015 *Doi :* 10.15672/HJMS.20164513110

1. Introduction and Preliminaries

Let \mathcal{A} be the class of functions f normalized by

$$(1.1) \quad f(z) = z + \sum_{n=2}^{\infty} a_n z^n$$

which are analytic in the open disk $\mathbb{U} = \{z : z \in \mathbb{C} \text{ and } |z| < 1\}$. As usual, we denote by \mathcal{S} the subclass of \mathcal{A} consisting of functions which are normalized by $f(0) = 0 = f'(0) - 1$ and also univalent in \mathbb{U} . Denote by \mathcal{T} [19] the subclass of \mathcal{A} consisting of functions of the form

$$(1.2) \quad f(z) = z - \sum_{n=2}^{\infty} a_n z^n, \quad a_n \geq 0, \quad n = 2, 3, \dots$$

*Department of Mathematics, School of Advanced Sciences, VIT University Vellore - 632014, INDIA, Email: gmsmoorthy@yahoo.com

[†]Corresponding Author.

[‡]Department of Mathematics, School of Advanced Sciences, VIT University Vellore - 632014, INDIA, Email: kvijaya@vit.ac.in

[§]Department of Mathematics, University Institute of Engineering and Technology, Chhatrapati Shahu Ji Maharaj University, Kanpur-208024, (U.P.), INDIA
Email: saurabhjcb@rediffmail.com

Also, for functions $f \in \mathcal{A}$ given by (1.1) and $g \in \mathcal{A}$ given by

$$g(z) = z + \sum_{n=2}^{\infty} b_n z^n,$$

we define the Hadamard product (or convolution) of f and g by

$$(1.3) \quad (f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n, \quad (z \in \mathbb{U}).$$

The class $\mathcal{S}^*(\alpha)$ of starlike functions of order α ($0 \leq \alpha < 1$) may be defined as

$$\mathcal{S}^*(\alpha) = \left\{ f \in \mathcal{A} : \Re \left(\frac{zf'(z)}{f(z)} \right) > \alpha, z \in \mathbb{U} \right\}.$$

The class $\mathcal{S}^*(\alpha)$ and the class $\mathcal{K}(\alpha)$ of convex functions of order α ($0 \leq \alpha < 1$)

$$\begin{aligned} \mathcal{K}(\alpha) &= \left\{ f \in \mathcal{A} : \Re \left(1 + \frac{zf''(z)}{f'(z)} \right) > \alpha, z \in \mathbb{U} \right\} \\ &= \{ f \in \mathcal{A} : zf' \in \mathcal{S}^*(\alpha) \} \end{aligned}$$

were introduced by Robertson in [17]. We also write $\mathcal{S}^*(0) = \mathcal{S}^*$, where \mathcal{S}^* denotes the class of functions $f \in \mathcal{A}$ that $f(\mathbb{U})$ is starlike with respect to the origin. Further, $\mathcal{K}(0) = \mathcal{K}$ is the well-known standard class of convex functions. It is an established fact that $f \in \mathcal{K}(\alpha) \iff zf' \in \mathcal{S}^*(\alpha)$.

A function $f \in \mathcal{A}$ is said to be in the class $f \in \mathfrak{R}^\tau(A, B)$ if it satisfies the inequality

$$\left| \frac{f'(z) - 1}{(A - B)\tau - B[f'(z) - 1]} \right| < 1.$$

where $z \in \mathbb{U}$, $\tau \in \mathbb{C} \setminus \{0\}$, $-1 \leq B < A \leq 1$. The class $\mathfrak{R}^\tau(A, B)$ was introduced earlier by Dixit and Pal [6]. If we put

$$\tau = 1, A = \alpha \text{ and } B = -\alpha \quad (0 < \alpha \leq 1),$$

we obtain the class of functions $f \in \mathcal{A}$ satisfying the inequality

$$\left| \frac{f'(z) - 1}{f'(z) + 1} \right| < \alpha \quad (z \in \mathbb{U}; 0 < \alpha \leq 1)$$

which was studied by (among others) Padmanabhan [12] and Caplinger and Causey [4].

Very recently, Porwal [13] introduce a power series whose coefficients are probabilities of Poisson distribution

$$K(m, z) = z + \sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-1)!} e^{-m} z^n, \quad (z \in \mathbb{U})$$

and we note that, by ratio test the radius of convergence of above series is infinity. In [13], Porwal also defined the series

$$F(m, z) = 2z - K(m, z) = z - \sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-1)!} e^{-m} z^n, \quad (z \in \mathbb{U}).$$

Now, we considered the linear operator

$$\mathcal{J}(m) : \mathcal{A} \rightarrow \mathcal{A}$$

defined by

$$(1.4) \quad \mathcal{J}(m)f = K(m, z) * f(z) = z + \sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-1)!} e^{-m} a_n z^n.$$

Motivated by results on connections between various subclasses of analytic univalent functions by using generalized Bessel functions [1, 2, 3, 8, 11, 13, 15, 22], hypergeometric functions by Srivastava et al. [20] (see [5, 7, 9, 10, 18]) we obtain necessary and sufficient condition for functions $F(m, z)$ in $\mathcal{G}^*(\lambda, \alpha)$ and $\mathcal{K}^*(\lambda, \alpha)$. Further due to the works of Ramesha et al. [16], Padmanabhan [12], we estimate certain inclusion relations between the classes $\mathcal{R}^r(A, B)$, and $\mathcal{G}^*(\lambda, \alpha)$ and $\mathcal{K}^*(\lambda, \alpha)$.

For $0 \leq \lambda < 1$ and $0 \leq \alpha < 1$, we let $\mathcal{G}(\lambda, \alpha)$ the subclass of functions $f \in \mathcal{A}$ which satisfy the condition

$$(1.5) \quad \Re \left(\frac{zf'(z) + \lambda z^2 f''(z)}{f(z)} \right) > \alpha, \quad (z \in \mathbb{U}).$$

and also let $\mathcal{K}(\lambda, \alpha)$ the subclass of functions $f \in \mathcal{A}$ which satisfy the condition

$$(1.6) \quad \Re \left(\frac{z[zf'(z) + \lambda z^2 f''(z)]'}{zf'(z)} \right) > \alpha, \quad (z \in \mathbb{U}).$$

Also denote $\mathcal{G}^*(\lambda, \alpha) = \mathcal{G}(\lambda, \alpha) \cap \mathcal{T}$ and $\mathcal{K}^*(\lambda, \alpha) = \mathcal{K}(\lambda, \alpha) \cap \mathcal{T}$.

1.1. Remark. It is of interest to note that for $\lambda = 0$, we have $\mathcal{G}(\lambda, \alpha) \equiv \mathcal{S}^*(\alpha)$ and $\mathcal{K}(\lambda, \alpha) \equiv \mathcal{K}(\alpha)$

To prove the main results, we need the following Lemmas.

1.2. Lemma. [21] *A function $f \in \mathcal{A}$ belongs to the class $\mathcal{G}(\lambda, \alpha)$ if*

$$\sum_{n=2}^{\infty} (n + \lambda n(n-1) - \alpha) |a_n| \leq 1 - \alpha.$$

1.3. Lemma. [21] *A function $f \in \mathcal{A}$ belongs to the class $\mathcal{K}(\lambda, \alpha)$ if*

$$\sum_{n=2}^{\infty} n(n + \lambda n(n-1) - \alpha) |a_n| \leq 1 - \alpha.$$

Further we can easily prove that the conditions are also necessary if $f \in \mathcal{T}$.

1.4. Lemma. *A function $f \in \mathcal{T}$ belongs to the class $\mathcal{G}^*(\lambda, \alpha)$ if and only if*

$$\sum_{n=2}^{\infty} (n + \lambda n(n-1) - \alpha) |a_n| \leq 1 - \alpha.$$

1.5. Lemma. *A function $f \in \mathcal{T}$ belongs to the class $\mathcal{K}^*(\lambda, \alpha)$ if and only if*

$$\sum_{n=2}^{\infty} n(n + \lambda n(n-1) - \alpha) |a_n| \leq 1 - \alpha.$$

2. Main Results

2.1. Theorem. *If $m > 0$, then $F(m, z)$ is in $\mathcal{G}^*(\lambda, \alpha)$ if and only if*

$$(2.1) \quad e^m [\lambda m^2 + (1 + 2\lambda)m] \leq 1 - \alpha.$$

Proof. Since $F(m, z) = z - \sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-1)!} e^{-m} z^n$ and by virtue of Lemma 1.4, it suffices to show that

$$\sum_{n=2}^{\infty} (n + \lambda n(n-1) - \alpha) \frac{m^{n-1}}{(n-1)!} e^{-m} \leq 1 - \alpha.$$

Let

$$\mathcal{L}_1(m, \lambda, \alpha) = \sum_{n=2}^{\infty} (n^2\lambda + n(1-\lambda) - \alpha) \frac{m^{n-1}}{(n-1)!} e^{-m}$$

Writing $n^2 = (n-1)(n-2) + 3(n-1) + 1$ and $n = (n-1) + 1$, and by simple computation, we get

$$\begin{aligned} \mathcal{L}_1(m, \lambda, \alpha) &= \sum_{n=2}^{\infty} \lambda(n-1)(n-2) \frac{m^{n-1}}{(n-1)!} e^{-m} \\ &\quad + (1+2\lambda) \sum_{n=2}^{\infty} (n-1) \frac{m^{n-1}}{(n-1)!} e^{-m} + (1-\alpha) \sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-1)!} e^{-m} \\ &= \lambda \sum_{n=3}^{\infty} \frac{m^{n-1}}{(n-3)!} e^{-m} + (1+2\lambda) \sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-2)!} e^{-m} \\ &\quad + (1-\alpha) \sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-1)!} e^{-m} \\ &= e^{-m} [\lambda m^2 e^m + (1+2\lambda)m e^m + (1-\alpha)(e^m - 1)] \\ &= \lambda m^2 + (1+2\lambda)m + (1-\alpha)(1 - e^{-m}). \end{aligned}$$

But, this last expression is bounded above by $1 - \alpha$ if and only if (2.1) is satisfied. \square

2.2. Theorem. *If $m > 0$, then $F(m, z)$ is in $\mathcal{K}^*(\lambda, \alpha)$ if and only if*

$$(2.2) \quad e^m [\lambda m^3 + (1+5\lambda)m^2 + (3+4\lambda-\alpha)m] \leq 1 - \alpha.$$

Proof. Since $F(m, z) = z - \sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-1)!} e^{-m} z^n$ and by virtue of Lemma 1.5, it suffices to show that

$$\sum_{n=2}^{\infty} (n^3\lambda + n^2(1-\lambda) - n\alpha) \frac{m^{n-1}}{(n-1)!} e^{-m} \leq 1 - \alpha.$$

Let

$$\mathcal{L}_2(m, \lambda, \alpha) = \sum_{n=2}^{\infty} (n^3\lambda + n^2(1-\lambda) - n\alpha) \frac{m^{n-1}}{(n-1)!} e^{-m}$$

Writing $n^3 = (n-1)(n-2)(n-3) + 6(n-1)(n-2) + 7(n-1) + 1$, $n^2 = (n-1)(n-2) + 3(n-1) + 1$ and $n = (n-1) + 1$, we can rewrite the above terms as

$$\begin{aligned} \mathcal{L}_2(m, \lambda, \alpha) &= \lambda \sum_{n=2}^{\infty} (n-1)(n-2)(n-3) \frac{m^{n-1}}{(n-1)!} e^{-m} \\ &\quad + (1+5\lambda) \sum_{n=2}^{\infty} (n-1)(n-2) \frac{m^{n-1}}{(n-1)!} e^{-m} \\ &\quad + (3+4\lambda-\alpha) \sum_{n=2}^{\infty} (n-1) \frac{m^{n-1}}{(n-1)!} e^{-m} \\ &\quad + (1-\alpha) \sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-1)!} e^{-m} \end{aligned}$$

$$\begin{aligned}
&= \lambda \sum_{n=4}^{\infty} \frac{m^{n-1}}{(n-4)!} e^{-m} + (1+5\lambda) \sum_{n=3}^{\infty} \frac{m^{n-1}}{(n-3)!} e^{-m} \\
&\quad + (3+4\lambda-\alpha) \sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-2)!} e^{-m} + (1-\alpha) \sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-1)!} e^{-m} \\
&= e^{-m} [\lambda m^3 e^m + (1+5\lambda)m^2 e^m + (3+4\lambda-\alpha)m e^m \\
&\quad + (1-\alpha)(e^m - 1)] \\
&= \lambda m^3 + (1+5\lambda)m^2 + (3+4\lambda-\alpha)m + (1-\alpha)(1 - e^{-m}).
\end{aligned}$$

But, this last expression is bounded above by $1 - \alpha$ if and only if (2.2) is satisfied. \square

By taking $\lambda = 0$, in Theorem 2.1 and 2.2 we state the following corollaries:

2.3. Corollary. *If $m > 0$, then $F(m, z)$ is in $S^*(\alpha)$ if*

$$(2.3) \quad me^m \leq 1 - \alpha.$$

2.4. Corollary. *If $m > 0$, then $F(m, z)$ is in $\mathcal{K}(\alpha)$ if*

$$(2.4) \quad e^m m(m+3-\alpha) \leq 1 - \alpha.$$

3. Inclusion Properties

Making use of the following lemma, we will study the action of the Poisson distribution series on the classes $\mathcal{K}(\lambda, \alpha)$.

3.1. Lemma. [6] *A function $f \in \mathfrak{R}^\tau(A, B)$ is of form (1.1), then*

$$(3.1) \quad |a_n| \leq (A-B) \frac{|\tau|}{n}, \quad n \in \mathbb{N} \setminus \{1\}.$$

The bound given in (3.1) is sharp for

$$f(z) = \int_0^z \left(1 + \frac{(A-B)|\tau|z^{n-1}}{1+Bz^{n-1}} \right) dz \quad (n \geq 2; z \in \mathbb{U})$$

3.2. Theorem. *Let $m > 0$. If $f \in \mathfrak{R}^\tau(A, B)$, then $\mathcal{J}(m)f \in \mathcal{K}(\lambda, \alpha)$ if and only if*

$$(3.2) \quad \frac{(A-B)|\tau|e^m [\lambda m^2 + (1+2\lambda)m]}{1 - (A-B)|\tau|(1 - e^{-m})} \leq 1 - \alpha$$

where $\tau \in \mathbb{C} \setminus \{0\}$, $-1 \leq B < A \leq 1$.

Proof. Let f be of the form (1.1) belong to the class $\mathfrak{R}^\tau(A, B)$ then by virtue of Lemma 1.5, it suffices to show that

$$\sum_{n=2}^{\infty} n(n^2\lambda + n(1-\lambda) - \alpha) \frac{m^{n-1}}{(n-1)!} e^{-m} |a_n| \leq 1 - \alpha.$$

Let

$$\mathcal{L}_3(m, \lambda, \alpha) = \sum_{n=2}^{\infty} n(n^2\lambda + n(1-\lambda) - \alpha) \frac{m^{n-1}}{(n-1)!} e^{-m} |a_n|.$$

Since $f \in \mathfrak{R}^\tau(A, B)$ by Lemma 3.1 we have $|a_n| \leq (A-B) \frac{|\tau|}{n}$, $n \in \mathbb{N} \setminus \{1\}$, hence we get

$$\begin{aligned}
\mathcal{L}_3(m, \lambda, \alpha) &\leq e^{-m} \sum_{n=2}^{\infty} (n^2\lambda + n(1-\lambda) - \alpha) \frac{m^{n-1}}{(n-1)!} (A-B)|\tau| \\
&\leq (A-B)|\tau| e^{-m} \sum_{n=2}^{\infty} (n^2\lambda + n(1-\lambda) - \alpha) \frac{m^{n-1}}{(n-1)!}
\end{aligned}$$

Writing $n^2 = (n - 1)(n - 2) + 3(n - 1) + 1$ and $n = (n - 1) + 1$, and by using the similar arguments as in the proof of Theorem 2.1, we get

$$\mathcal{L}_3(m, \lambda, \alpha) \leq (A - B)|\tau| [\lambda m^2 + (1 + 2\lambda)m + (1 - \alpha)(1 - e^{-m})].$$

But, the last expression is bounded above by $1 - \alpha$ if and only if (3.2) is satisfied. Hence the proof is completed. \square

3.3. Corollary. *Let $m > 0$ and $\lambda = 0$. If $f \in \mathfrak{R}^\tau(A, B)$, then $\mathcal{J}(m)f \in \mathcal{K}(\alpha)$ if and only if*

$$(A - B)|\tau|m [1 - (A - B)|\tau|(1 - e^{-m})^{-1}] \leq 1 - \alpha$$

where $\tau \in \mathbb{C} \setminus \{0\} - 1 \leq B < A \leq 1$.

3.4. Theorem. *Let $m > 0$, then*

$$G(m, z) = \int_0^z \frac{F(m, t)}{t} dt$$

is in $\mathcal{K}^*(\lambda, \alpha)$ if and only if

$$(3.3) \quad e^m [\lambda m^2 + (1 + 2\lambda)m] \leq 1 - \alpha.$$

Proof. Since

$$G(m, z) = z - \sum_{n=2}^{\infty} \frac{e^{-m} m^{n-1}}{(n-1)!} \frac{z^n}{n} = z - \sum_{n=2}^{\infty} \frac{e^{-m} m^{n-1}}{n!} z^n$$

by Lemma 1.5, we need only to show that

$$\sum_{n=2}^{\infty} n(n^2 \lambda + n(1 - \lambda) - \alpha) \frac{m^{n-1}}{n!} e^{-m} \leq 1 - \alpha.$$

Now, let

$$\begin{aligned} \mathcal{L}_4(m, \lambda, \alpha) &= \sum_{n=2}^{\infty} n(n^2 \lambda + n(1 - \lambda) - \alpha) \frac{m^{n-1}}{n!} e^{-m} \\ &= \sum_{n=2}^{\infty} (n^2 \lambda + n(1 - \lambda) - \alpha) \frac{m^{n-1}}{(n-1)!} e^{-m}. \end{aligned}$$

Hence, writing $n^2 = (n - 1)(n - 2) + 3(n - 1) + 1$ and $n = (n - 1) + 1$, and by using the similar arguments as in the proof of Theorem 2.1, we have

$$\mathcal{L}_4(m, \lambda, \alpha) \leq \lambda m^2 + (1 + 2\lambda)m + (1 - \alpha)(1 - e^{-m}),$$

which is bounded above by $1 - \alpha$ if and only if (3.3) holds. \square

3.5. Theorem. *Let $m > 0$, then $G(m, z) = \int_0^z \frac{F(m, t)}{t} dt$ is in $\mathcal{G}^*(\lambda, \alpha)$ if and only if*

$$(3.4) \quad m\lambda + \left(1 - \frac{\alpha}{m}\right) (1 - e^{-m}) + \alpha e^{-m} \leq 1 - \alpha.$$

Proof. The proof of theorem is similar to that of Theorem 3.4, hence we omit the details involved. \square

Acknowledgement: The authors thank the referee for his insightful suggestions to improve the paper in present form.

References

- [1] Baricz, A. *Geometric properties of generalized Bessel functions*, Publ. Math. Debrecen, **73** (1-2), 155–178, 2008.
- [2] Baricz, A. *Geometric properties of generalized Bessel functions of complex order*, Mathematica(Cluj) **48** (71) (1), 13–18, 2006.
- [3] Baricz, A. *Generalized Bessel functions of the first kind*, PhD thesis, Babes-Bolyai University, Cluj-Napoca, 2008.
- [4] Caplinger, T. R. and Causey, W. M. *A class of univalent functions*, Proc. Amer. Math. Soc. **39**, 357–361, 1973.
- [5] Cho, N. E. Woo, S. Y. and Owa, S. *Uniform convexity properties for hypergeometric functions*, Fract. Cal. Appl. Anal., **5** (3), 303–313, 2002.
- [6] Dixit, K.K. and Pal, S.K. *On a class of univalent functions related to complex order*, Indian J. Pure. Appl. Math. **26** (9), 889–896, 1995.
- [7] Merkes, E. and Scott, B. T. *Starlike hypergeometric functions*, Proc. Amer. Math. Soc. **12**, 885–888, 1961.
- [8] Mondal, S. R. and Swaminathan, A. *Geometric properties of generalized Bessel functions*, Bull. Malaysian Math. Sci. Soc. **35** (1), 179–194, 2012.
- [9] Mostafa, A. O. *A study on starlike and convex properties for hypergeometric functions*, J. Inequal. Pure Appl. Math. **10** (3), 1–16, 2009.
- [10] Murugusundaramoorthy, G. and Magesh, N. *On certain subclasses of analytic functions associated with hypergeometric functions*, Appl. Math. Lett. **24**, 494–500, 2011.
- [11] Murugusundaramoorthy, G. and Janani, T. *An application of generalized Bessel functions on certain subclasses of analytic functions*, Turkish Journal of Analysis and Number Theory **3** (1), 1-6, 2015.
- [12] Padmanabhan, K. S. *On sufficient conditions for starlikeness*, Indian J. Pure Appl. Math. **32**, 543–550, 2001.
- [13] Porwal, S. *An application of a Poisson distribution series on certain analytic functions*, J. Complex Anal. **2014**, Article ID 984135, 3 pages, 2014.
- [14] Porwal, S. *Mapping properties of generalized Bessel functions on some subclasses of univalent functions*, Anal. Univ. Oradea Fasc. Matematica, **20** (2), 51-60, 2013.
- [15] Porwal, S. and Dixit, K.K. *An application of generalized Bessel functions on certain analytic functions*, Acta Univ. Matthiae Belii, series Mathematics, **2013** 51–57, 2013 .
- [16] Ramesha, C. Kumar, S. and Padmanabhan, K.S. *A sufficient condition for starlikeness*, Chinese J. Math. **23** (2), 167–171, 1995.
- [17] Robertson, M. S. *On the theory of univalent functions*, Ann. Math. **37**, 374–408, 1936.
- [18] Silverman, H. *Starlike and convexity properties for hypergeometric functions*, J. Math. Anal. Appl. **172** (3), 574–581, 1993.
- [19] Silverman, H. *Univalent functions with negative coefficients*, Proc. Amer. Math. Soc. **51**, 109–116, 1975.
- [20] Srivastava, H. M. Murugusundaramoorthy, G. and Sivasubramanian, S. *Hypergeometric functions in the parabolic starlike and uniformly convex domains*, Integr. Transf. Spec. Func. **18**, 511–520, 2007.
- [21] Thulasiram, T. Suchithra, K. Sudharsan, T. V. and Murugusundaramoorthy, G. *Some inclusion results associated with certain subclass of analytic functions involving Hohlov operator*, Rev. R. Acad. Cienc. Exactas, Fis. Nat. Ser.- A Math. **108** (2), 711–720, 2014.
- [22] Vijaya, K. Murugusundaramoorthy, G. and Kasthuri, M. *A note on subclasses of starlike and convex functions associated with Bessel functions*, J. Nonlinear Funct. Anal. **2014**, 2014:11.

